Summary of Homework #4
(Dr. Levy; “Dynamics”; problems: 12-102/112/132/138/154/169; 24 HWs received, Feb.3 2005)

Problem 12.102
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Problem 12.112
Acceleration: The radius of curvature of the path at point A must be determined first.

Here, 
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To determine the normal acceleration, appling Eq. 12-20

[image: image13.wmf]n

a

=
[image: image14.wmf]r

2

v

=
[image: image15.wmf]57

.

190

10

2

=
[image: image16.wmf]2

/

5247

.

0

s

m


Here, 
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Problem 12.132
Distance Traveled: Initially the distance between the two particles is 
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. Since particle B travels with a constant acceleration, distance can be obtained by applying equation
s
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The distance traveled by particle A can be obtained as follows:
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In order to the collision to occur
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Solving by trial and error    
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Note: If particle A strikes B then, 
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. This equation will result in 
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Acceleration: The tangential acceleration for particle A and B When
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. TO determine the normal acceleration, apply Eq.12-20.
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The magnitude of the acceleration for particles A and B just before collision are
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Problem 12.138
When
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Problem 12.154
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Problem 12.169
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